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Code No. 054

Candidates must write the
Code on the title-page of the
answer-book.

¬⁄UËˇÊÊÕË¸ ∑§Ê«U ∑§Ê ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ∑§
◊Èπ-¬Îc∆U ¬⁄U •fl‡ÿ Á‹π¥–

Note / ŸÊ≈U —

(i) Please check that this question paper contains 12 printed pages.

∑Î§¬ÿÊ ¡Ê°ø ∑§⁄U ‹¥ Á∑§ ß‚ ¬˝‡Ÿ-¬òÊ ◊¥  12 ◊ÈÁŒ˝Ã ¬Îc∆U „Ò¥–

(ii) Code number given on the right hand side of the question paper should be written on the

title-page of the answer-book by the candidates.

¬˝‡Ÿ-¬òÊ ◊¥ ŒÊÁ„Ÿ „ÊÕ ∑§Ë •Ê⁄U ÁŒ∞ ª∞ ∑§Ê«U Ÿê’⁄U ∑§Ê ¿UÊòÊ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ∑§ ◊Èπ-¬Îc∆U ¬⁄U Á‹π¥–

(iii) Please check that this question paper contains 21 questions.

∑Î§¬ÿÊ ¡Ê°ø ∑§⁄U ‹¥ Á∑§ ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ 21 ¬˝‡Ÿ „Ò¥–

(iv) Please write down the Serial Number of the question in the answer-book before

attempting it.

∑Î§¬ÿÊ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄ Á‹πŸÊ ‡ÊÈM§ ∑§⁄UŸ ‚ ¬„‹, ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ¬˝‡Ÿ ∑§Ê ∑˝§◊Ê¥∑§ •fl‡ÿ Á‹π¥–U
(v) 15 minutes time has been allotted to read this question paper.  The question paper will be

distributed at 10:15 a.m., From 10:15 a.m. to 10:30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

ß‚ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏Ÿ ∑§ Á‹∞ 15 Á◊Ÿ≈U ∑§Ê ‚◊ÿ ÁŒÿÊ ªÿÊ „Ò–  ¬˝‡Ÿ-¬òÊ ∑§Ê ÁflÃ⁄UáÊ ¬ÍflÊ¸q ◊¥ 10:15  ’¡
Á∑§ÿÊ ¡Ê∞ªÊ– ¬ÍflÊ¸q  ◊¥  10:15 ‚ 10:30 ’¡ Ã∑§ ¿UÊòÊ ¬˝‡Ÿ-¬òÊ ∑§Ê ∑§fl‹ ¬…∏¥ª •ÊÒ⁄U ß‚ •flÁœ ∑§ ŒÊÒ⁄UÊŸ
fl ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ∑§Êß¸ ©ûÊ⁄U Ÿ„Ë¥ Á‹π¥ª–

Roll No.

⁄UÊ‹ Ÿ¥.

INFORMATION TECHNOLOGY

General Instructions :

‚Ê◊Êãÿ ÁŸŒ¸‡Ê —
Read the following instructions very carefully and strictly follow them :

ÁŸêŸÁ‹ÁπÃ ÁŸŒ¸‡ÊÊ¥ ∑§Ê äÿÊŸ ‚ ¬…∏¥ ∞fl¥ ¬ÍáÊ¸M§¬ ‚ ©Ÿ∑§Ê •ŸÈ¬Ê‹Ÿ ∑§⁄¥U–
Time allowed : 2 hours Maximum marks : 50

ÁŸœÊ¸Á⁄UÃ ‚◊ÿ — 2 ÉÊ¥≈U •Áœ∑§Ã◊ •¥∑§ — 50

‚ÍøŸÊ ¬˝ÊÒlÊÁª∑§Ë
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(vi) Question paper comprises two sections - Section - A and Section - B.

¬˝‡Ÿ-¬òÊ ∑§Ê ŒÊ π¥«UÊ¥  ◊¥ Áfl÷ÊÁ¡Ã Á∑§ÿÊ ªÿÊ „Ò - π¥«U - • ∞fl¥ π¥«U - ’–

(vii) Section - A has Objective Type Questions whereas Section - B contains Subjective Type

Questions.

π¥«U - • ◊¥§ flSÃÈÁŸc∆U ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥ ÃÕÊ π¥«U - ’ ◊¥ Áfl·ÿ¬⁄U∑§ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥–
(viii) Out of the given (5+16=)21 questions, a candidate has to answer (5+10=)15 questions in the

allotted (maximum) time of 2 hours.

ÁŒ∞ ª∞ (5+16=)21 ¬˝‡ŸÊ¥ ◊¥ ‚, ©ê◊ËŒflÊ⁄U ∑§Ê  2 ÉÊ¥≈U ∑§ (•Áœ∑§Ã◊) ‚◊ÿ ◊¥ (5+10=)15 ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U
ŒŸ „Ò¥–

(ix) All questions of a particular section may be attempted in the correct order.

Á∑§‚Ë Áfl‡Ê· π¥«U ∑§ ‚÷Ë ¬˝‡ŸÊ¥ ∑§Ê ‚„Ë ∑˝§◊ ◊¥ ∑§⁄UŸ ∑§Ê ¬˝ÿÊ‚ Á∑§ÿÊ ¡ÊŸÊ øÊÁ„∞–

(x) Section - A : Objective Type Questions (24 Marks).

π¥«U - • — flSÃÈÁŸc∆U ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ (24 •¥∑§)–

(a) This Section has 05 questions.

ß‚ π¥«U ◊¥ 05 ¬˝‡Ÿ „Ò¥–

(b) Marks allotted are mentioned against each question/part.

¬˝àÿ∑§ ¬˝‡Ÿ /÷Êª ∑§ ‚Ê◊Ÿ •Êfl¥Á≈UÃ •¥∑§Ê¥ ∑§Ê ©ÀÀÊπ Á∑§ÿÊ ªÿÊ „Ò–

(c) Do as per the instructions given.

ÁŒ∞ ª∞ ÁŸŒ¸‡ÊÊ¥ ∑§ •ŸÈ‚Ê⁄U ∑§⁄¥U–

(d) There is no negative marking.

∑§Êß¸ Ÿ∑§Ê⁄UÊà◊∑§ •¥∑§Ÿ Ÿ„Ë¥ „Ò–

(xi) Section - B : Subjective Type Questions (26 Marks).

π¥«U - ’ — Áfl·ÿ¬⁄U∑§U ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ (26 •¥∑§)–

(a) This Section has 16 questions.

ß‚ π¥«U ◊¥ 16 ¬˝‡Ÿ „Ò¥–

(b) A candidate has to attmept 10 questions.

©ê◊ËŒflÊ⁄U ∑§Ê 10 ¬˝‡Ÿ ∑§⁄UŸ „Ò¥–

(c) Do as per the instructions given.

ÁŒ∞ ª∞ ÁŸŒ¸‡ÊÊ¥ ∑§ •ŸÈ‚Ê⁄U ∑§⁄¥U–

(d) Marks allotted are mentioned against each question/part.

¬˝àÿ∑§ ¬˝‡Ÿ /÷Êª ∑§ ‚Ê◊Ÿ •Êfl¥Á≈UÃ •¥∑§Ê¥ ∑§Ê ©ÀÀÊπ Á∑§ÿÊ ªÿÊ „Ò–
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SECTION - A / π¥«U - •

Objective Type Questions / flSÃÈÁŸcU∆U ¬˝‡Ÿ

1. Answer any 4 out of the given 6 questions  on employability skills. 1x4=4

⁄UÊ¡ªÊ⁄U ∑§ÊÒ‡Ê‹ ¬⁄U ÁŒ∞ ª∞ 6 ¬˝‡ŸÊ¥ ◊¥ ‚ Á∑§ã„Ë¥ 4 ∑§ ©ûÊ⁄U ŒËÁ¡∞–

(i) Which one of the following is an example of public communication ?

(a) Report (b) Board meeting

(c) Public speeches (d) SMS

ÁŸêŸÁ‹ÁπÃ Áfl∑§À¬Ê¥ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∞∑§ Áfl∑§À¬ ‚Êfl¸¡ÁŸ∑§ ‚¥øÊ⁄U ∑§Ê ©ŒÊ„⁄UáÊ „Ò?

(a) Á⁄U¬Ê≈¸U (b) ’Ê«¸U ◊ËÁ≈¥Uª

(c) ¬Áé‹∑§ S¬Ëø (d) ∞‚ ∞◊ ∞‚

(ii) __________ is about making a plan to be able to cope effectively with daily
pressures.

(a) Managing time (b) Managing stress

(c) Relation (d) Relaxation

__________ ŒÒÁŸ∑§ Œ’ÊflÊ¥  ‚ ¬˝÷ÊflË …¥Uª ‚ ÁŸ¬≈UŸ ◊¥ ‚ˇÊ◊ „ÊŸ ∑§ Á‹∞ ∞∑§ ÿÊ¡ŸÊ ’ŸÊŸ
∑§ ’Ê⁄U ◊¥ „Ò–

(a) ‚◊ÿ ¬˝’¥œŸ (b) ÃŸÊfl ¬˝’¥œŸ

(c) ‚¥’¥œ (d) ÁflüÊÊ◊

(iii) Select the appropriate option that helps in managing emotional intelligence
from the following :

(a) Rationalize (b) Time Management

(c) Work Management (d) Knowing your skills

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ©‚ ©¬ÿÈÄÃ Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄¥U ¡Ê ÷ÊflŸÊà◊∑§ ’ÈÁh◊ûÊÊ ∑§Ê ¬˝’¥ÁœÃ ∑§⁄UŸ
◊¥ ◊ŒŒ ∑§⁄UÃÊ „Ò–

(a) ÿÈÁÄÃ‚¥ªÃ (b) ‚◊ÿ ¬˝’¥œŸ

(c) ∑§Êÿ¸ ¬˝’¥œŸ (d) •¬Ÿ ∑§ÊÒ‡Ê‹ ∑§Ê ¡ÊŸŸÊ

(iv) Which one of the following is not an example of navigation key on the
keyboard of a computer ?

(a) Home (b) Insert (c) End (d) Page Down

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∞∑§ ’≈UŸ ∑¥§åÿÍ≈UU⁄U ∑§ ∑§Ë’Ê«¸ ∑§ ŸflËª‡ÊŸ ’≈UŸ ∑§Ê ©ŒÊ„⁄UáÊ Ÿ„Ë¥ „Ò?

(a) „Ê◊ (b) ßã‚≈¸U (c) ∞á«U (d) ¬¡ «UÊ©Ÿ
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(v) __________ is the development that meets the need of present without
compromising the ability of future generation to meet their own needs.

(a) Sustainable Development (b) Economic Development

(c) Social Development (d) Emotional Development

__________ fl„ Áfl∑§Ê‚ „Ò ¡Ê ÷Áflcÿ ∑§Ë ¬ËÁ…∏ÿÊ¥ ∑§Ë ¡M§⁄UÃÊ¥ ∑§Ê ¬Í⁄UÊ ∑§⁄UŸ ∑§Ë ˇÊ◊ÃÊ ‚
‚◊¤ÊÊÒÃÊ Á∑§∞ Á’ŸÊ flÃ¸◊ÊŸ ∑§Ë ¡M§⁄UÃÊ¥ ∑§Ê ¬Í⁄UÊ ∑§⁄UÃÊ „Ò–
(a) ‚ÃÃ Áfl∑§Ê‚ (b) •ÊÁÕ¸∑§ Áfl∑§Ê‚
(c) ‚Ê◊ÊÁ¡∑§ Áfl∑§Ê‚ (d) ÷ÊflŸÊà◊∑§ Áfl∑§Ê‚

(vi) Which of the following is an example of entrepreneurship ?

(a) A post master working in a post office.

(b) A mechanic who owns a garage for repairing vehicles.

(c) A principal working in a school.

(d) A manager working in a bank.

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∞∑§ ©lÁ◊ÃÊ ∑§Ê ©ŒÊ„⁄UáÊ „Ò?
(a) ¬ÊS≈U •ÊÚÁ»§‚ ◊¥ ∑§Ê◊ ∑§⁄UŸ flÊ‹Ê ¬ÊS≈U ◊ÊS≈U⁄U–
(b) ∞∑§ ◊ÊÁ‹∑§ ◊Ò∑§ÁŸ∑§ Á¡‚∑§ ¬Ê‚ ªÊÁ«∏ÿÊ¥ ∑§Ë ◊⁄Uê◊Ã ∑§ Á‹∞ •¬ŸÊ ªÒ⁄¡ „Ò–U
(c) ÁfllÊ‹ÿ ◊¥ ∑§Ê◊ ∑§⁄UŸ flÊ‹Ê ¬˝œÊŸÊøÊÿ¸–
(d) ’Ò¥∑§ ◊¥ ∑§Ê◊ ∑§⁄UŸ flÊ‹Ê ◊ÒŸ¡⁄U–

2. Answer any 5 out of the given 6 questions. 1x5=5

ÁŒ∞ ª∞ 6 ¬˝‡ŸÊ¥ ◊¥ ‚ Á∑§ã„Ë¥ 5 ∑§ ©ûÊ⁄U ŒËÁ¡∞–

(i) __________ defines basic page layout like page size, its margins, placement
of header and footer, footnote, border and background.

(a) Frame style (b) Paragraph style

(c) Character style (d) Page style

__________ ’Á‚∑§ ¬¡ ‹•Ê©≈U ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§⁄UÃÊ „Ò ¡Ò‚ ¬¡ ‚Êß¡, ß‚∑§Ê ◊ÊÁ¡¸Ÿ, „«U⁄U
•ÊÒ⁄U »È§≈U⁄U ∑§Ê SÕÊŸ, »È§≈UŸÊ≈U, ’Ê«¸U⁄U •ÊÒ⁄U ’Ò∑§ª˝Ê©¥«U–
(a) »˝§◊ S≈UÊß‹ (b) ¬⁄UÊª˝Ê»§ S≈UÊß‹
(c) ∑Ò§⁄UÄ≈U⁄U S≈UÊß‹ (d) ¬¡ S≈UÊß‹

(ii) Which of the following file extension is not commonly associated with image
files ?

(a) .jpg (b) .png (c) .txt (d) .gif

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê »§Êß‹ ∞Ä‚≈¥U‡ÊŸ ‚Ê◊ÊãÿÃ— ß◊¡ »§ÊßÀ‚ ∑§ Á‹∞ ©¬ÿÊª Ÿ„Ë¥ Á∑§ÿÊ
¡ÊÃÊ?
(a) .jpg (b) .png (c) .txt (d) .gif
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(iii) __________ is used to style scattered - Pages, Frames, Tables, Lists, Paragraphs
or Characters in document.
(a) Copy  and Paste (b) Fill Format
(c) Style Action (d) Edit Style

__________ ∑§Ê ¬˝ÿÊª S≈UÊß‹ S∑Ò§≈U«¸U - ¬¡¡, »˝§ê‚, ≈U’À‚, Á‹S≈U, ¬Ò⁄UÊª˝Êç‚ ÿÊ ∑Ò§⁄UÄ≈U‚¸ ∑§
Á‹∞ Á∑§ÿÊ ¡ÊÃÊ „Ò–
(a) ∑§ÊÚ¬Ë •ÊÒ⁄U ¬S≈U (b) Á»§‹ »§ÚÊ◊¸≈U
(c) S≈UÊß‹ ∞Ä‡ÊŸ (d) ∞Á«U≈U S≈UÊß‹

(iv) Identify the Wrap Tool that superimposes the images on the text.
(a) Wrap Right (b) Wrap Through
(c) Wrap Left (d) Wrap off

⁄Ò¬ ≈ÍU‹ ∑§Ë ¬„øÊŸ ∑§⁄¥U ¡Ê ≈UÄS≈U ¬⁄U ß◊¡ ∑§Ê ‚È¬⁄Ußê¬Ê$¡ ∑§⁄UÃÊ „Ò–
(a) ⁄Ò¬ ⁄UÊß≈U (b) ⁄Ò¬ Õ˝Í
(c) ⁄Ò¬ ‹ç≈U (d) ⁄Ò¬ •ÊÚ»§

(v) __________ is the process of reducing or enlarging the size of the image.
(a) Rearranging (b) Resizing (c) Anchoring (d) Cropping

__________ ß◊¡ ∑§ •Ê∑§Ê⁄U ∑§Ê ∑§◊ ∑§⁄UŸ ÿÊ ’…∏ÊŸ ∑§Ë ¬˝Á∑˝§ÿÊ „Ò–
(a) ⁄UË•⁄UÁã¡¥ª (b) ⁄UË‚ÊßÁ¡¥ª (c) ∞¥∑§Á⁄¥Uª (d) ∑Ú̋§ÊÁ¬¥ª

(vi) __________ acts as bookmarks in a document. These bookmarks allow faster
browsing in a document.
(a) Drag and drop (b) Formatting
(c) Tables (d) Predefined heading style

__________ ∞∑§ «UÊÚÄÿÍ◊¥≈U ∑§ ’È∑§◊Ê∑¸§ ∑§ M§¬ ◊¥ ∑§Êÿ¸ ∑§⁄UÃÊ „Ò– ÿ„ ’È∑§◊Ê∑¸§ Á∑§‚Ë «UÊÚÄÿÍ◊¥≈U
◊¥ Ã$¡ ’˝Ê©Á$¡¥ª ∑§Ë •ŸÈ◊ÁÃ ŒÃ „Ò¥–
(a) «˛Uª •ÊÒ⁄U «˛UÊÚ¬ (b) »§Ê◊¸Á≈¥Uª
(c) ≈U’À‚ (d) ¬˝ËÁ«U»§Êßã«U „ÒÁ«¥Uª S≈UÊß‹

3. Answer any 5 out of given 6 questions. 1x5=5

ÁŒ∞ ª∞ 6 ¬˝‡ŸÊ¥ ◊¥ ‚ Á∑§ã„Ë¥ 5 ∑§ ©ûÊ⁄U ŒËÁ¡∞–

(i) __________ contain a list of topics and subtopics that have been covered in
the book along with page numbers.
(a) Style (b) Template
(c) Table of contents (d) Background

__________ ◊¥ ©Ÿ Áfl·ÿÊ¥ •ÊÒ⁄U ©¬Áfl·ÿÊ¥ ∑§Ë ‚ÍøË ‡ÊÊÁ◊‹ „Ò Á¡ã„ ¬Îc∆U ‚¥ÅÿÊ (¬¡ Ÿ¥’⁄U) ∑§
‚ÊÕ ¬ÈSÃ∑§ ◊¥ ‡ÊÊÁ◊‹ Á∑§ÿÊ ªÿÊ „Ò–
(a) S≈UÊß‹ (b) ≈Uêå‹≈U
(c) ≈U’‹ •ÊÚ»§ ∑§ã≈Uã≈U‚˜ (d) ’∑§ª˝Ê©¥«U
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(ii) Which of the following is a valid macro name ?
(a) #@macro (b) =1macro (c) Macro1 (d) My macro

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ◊∑˝§Ê ŸÊ◊ ◊Êãÿ „Ò?
(a) #@macro (b) =1macro (c) Macro1 (d) My macro

(iii) Which of the following features of calc allows jumping from one sheet to
another?
(a) Grouping (b) Hyperlink
(c) Data (d) Consolidate

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑Ò§À∑§ ∑§Ë ∑§ÊÒŸ ‚Ë Áfl‡Ê·ÃÊ ∞∑§ ‡ÊË≈U ‚ ŒÍ‚⁄UË ‡ÊË≈U ¬⁄U ¡ÊŸ ∑§Ë •ŸÈ◊ÁÃ ŒÃË
„Ò?
(a) ªÈ̋Á¬¥ª (Grouping) (b) „Êß¸¬⁄UÁ‹¥∑§ (Hyperlink)

(c) «U≈UÊ (Data) (d) ∑§Êã‚ÊÁ‹«U≈U (Consolidate)

(iv) Which of the following is a spreadsheet file ?
(a) First.odt (b) Data.odp (c) data.ods (d) mydata.odg

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ë ∞∑§ S¬˝«U‡ÊË≈U »§Êß‹ „Ò?
(a) First.odt (b) Data.odp (c) data.ods (d) mydata.odg

(v) __________ helps discover what values will be required to produce a desired
result.
(a) Estimate (b) Data Predictor
(c) Goal seek (d) Scenario

__________ ÿ„ ¬ÃÊ ‹ªÊŸ ◊¥ ◊ŒŒ ∑§⁄UÃÊ „Ò Á∑§ flÊ¥Á¿UÃ ¬Á⁄UáÊÊ◊ (Á«U$¡Êÿ«¸U Á⁄U¡À≈U) ©à¬ãŸ
∑§⁄UŸ ∑§ Á‹∞ Á∑§Ÿ ◊ÍÀÿÊ¥ ∑§Ë •Êfl‡ÿ∑§ÃÊ „ÊªË?
(a) ∞S≈UË◊≈U (b) «UÊ≈UÊ ¬˝Á«UÄ≈U⁄U
(c) ªÊ‹ ‚Ë∑§ (d) Á‚ŸÁ⁄UÿÊ

(vi) Arihant is evaluating a spreadsheet file of one of his students.  He wants to
add some text to  explain the  changes.  Which of the following will help him
add the explanation text ?
(a) Adding comments to the place of change.
(b) Adding formula to the place of change.
(c) Note changes in a separate file.
(d) Write down text in a separate sheet.

•Á⁄U„¥Ã •¬Ÿ ∞∑§ ¿UÊòÊ ∑§Ë S¬˝«U‡ÊË≈U »§Êß‹ ∑§Ê ◊ÍÀÿÊ¥∑§Ÿ ∑§⁄U ⁄U„Ê „Ò– fl„ ¬Á⁄UflÃ¸ŸÊ¥ ∑§Ê ‚◊¤ÊÊŸ
∑§ Á‹∞ ∑È§¿U ≈UÄS≈U ¡Ê«∏ŸÊ øÊ„ÃÊ „Ò– ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê Áfl∑§À¬ ©‚ S¬c≈UË∑§⁄UáÊ ≈UÄS≈U
¡Ê«∏Ÿ ◊¥ ‚„Êÿ∑§ „ÊªÊ?
(a) ¬Á⁄UflÃ¸Ÿ ∑§ SÕÊŸ ¬⁄U Á≈Uå¬ÁáÊÿÊ (∑§◊¥≈U) ¡Ê«∏ŸÊ–
(b) ¬Á⁄UflÃ¸Ÿ ∑§ SÕÊŸ ¬⁄U »§Ê◊Í¸‹Ê ¡Ê«∏ŸÊ–
(c) ¬Á⁄UflÃ¸ŸÊ¥ ∑§Ê ∞∑§ •‹ª »§Êß‹ ◊¥ ŸÊ≈U ∑§⁄¥U–
(d) ≈UÄS≈U ∑§Ê ∞∑§ •‹ª ‡ÊË≈U ◊¥ Á‹π¥–
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4. Answer any 5 out of given 6 questions. 1x5=5

ÁŒ∞ ª∞ 6 ¬˝‡ŸÊ¥ ◊¥ ‚ Á∑§ã„Ë¥ 5 ∑§ ©ûÊ⁄U Œ¥–

(i) __________ is a collection of raw facts.

(a) Information (b) Values (c) Data (d) Database

__________ ⁄UÊÚ »Ò§Ä≈˜U‚ ∑§Ê ‚¥ª˝„ „Ò–

(a) ‚ÍøŸÊ (b) ◊ÍÀÿ (c) «U≈UÊ (d) «U≈UÊ’‚

(ii) __________ involves translation of data in such a manner that unauthorized
users cannot read it.

(a) Information (b) Encryption

(c) Decryption (d) Redundancy

__________ ◊¥ «U≈UÊ ∑§Ê ß‚ Ã⁄U„ ‚ •ŸÈflÊŒ ∑§⁄UŸÊ ‡ÊÊÁ◊‹ „Ò Á∑§ •ŸÁœ∑Î§Ã ©¬ÿÊª∑§ÃÊ¸
(•Ÿ•ÊÚÕÊ⁄UÊßí«U ÿÍ¡‚¸) ß‚ ¬…∏Ÿ ◊¥ ‚ˇÊ◊ Ÿ „Ê¥–

(a) ‚ÍøŸÊ (b) ∞Áã∑˝§å‡ÊŸ

(c) Á«UÁ∑˝§å‡ÊŸ (d) Á⁄U«Uá«Uã‚Ë

(iii) In which data model all the records are linked to each other at various levels,
thereby forming a hierarchy ?

(a) Inverted tree data model (b) Hierarchical Data Model

(c) Network Data Model (d) Relational Data Model

∑§ÊÒŸ ‚ «U≈UÊ ◊ÊÚ«U‹ ◊¥ ‚÷Ë Á⁄U∑§Ê«¸U ÁflÁ÷ãŸ SÃ⁄UÊ¥ ¬⁄U ∞∑§ ŒÍ‚⁄U ‚ ¡È«∏ „ÊÃ „Ò¥, Á¡‚◊¥ ∞∑§ „Êÿ⁄UÊ∑§Ë¸
’ŸÃÊ „Ò?

(a) ßãfl≈¸U«U ≈˛UË «U≈UÊ ◊ÊÚ«U‹ (b) „Êÿ⁄UÊÁ∑¸§∑§‹ «U≈UÊ ◊ÊÚ«U‹

(c) Ÿ≈Ufl∑¸§ «U≈UÊ ◊ÊÚ«U‹ (d) Á⁄U‹‡Ÿ‹ «U≈UÊ ◊ÊÚ«U‹
(iv) __________ is a collection of logically related records in the form of rows

and columns.

(a) Table (b) Entity (c) Tuple (d) Attribute

__________ ‹ÊÚÁ¡∑§‹ M§¬ ‚ ‚¥’¥ÁœÃ Á⁄U∑§Ê«¸˜U‚ ∑§Ê ‚¥ª˝„ „Ò, ¡Ê ⁄UÊ¡ (rows) •ÊÒ⁄U ∑§ÊÚ‹ê‚
(columns) ∑§ M§¬ ◊¥ √ÿflÁSÕÃ „ÊÃÊ „Ò–

(a) ≈U’‹ (b) ∞Áã≈UÁ≈U (c) ≈˜UUÿÍ¬‹ (d) ∞Á≈˛UéÿÍ≈U

(v) Which of the following data types can be used to store digitized images and
sounds ?

(a) Boolean (b) Date (c) Varchar (d) Binary

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ «U≈UÊ ≈UÊß¬ ∑§Ê ©¬ÿÊª Á«UÁ¡≈UÊß$¡«U ÁøòÊÊ¥ (ß◊¡‚) •ÊÒ⁄U äflÁŸÿÊ¥
(‚Ê©ã«˜U‚) ∑§Ê ‚¥ª˝„ËÃ ∑§⁄UŸ ∑§ Á‹∞ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò?

(a) Boolean (b) Date (c) Varchar (d) Binary
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(vi) __________ is a field or a set of fields that uniquely identifies a record and
cannot have null value in a table.

(a) Foreign key (b) Unique key

(c) Primary key (d) Null key

__________ ∞∑§ »§ËÀ«U ÿÊ »§ËÀ«˜U‚ ∑§Ê ∞∑§ ‚≈U „Ò ¡Ê ÁflÁ‡Êc≈U M§¬ ‚ Á⁄U∑§Ê«¸U ∑§Ë ¬„øÊŸ ∑§⁄UÃÊ
„Ò •ÊÒ⁄U ß‚∑§Ê ◊ÊŸ Ÿ‹ Ÿ„Ë¥ „Ê ‚∑§ÃÊ–

(a) Foreign key (b) Unique key

(c) Primary key (d) Null key

5. Answer any 5 out of the given 6 questions. 1x5=5

ÁŒ∞ ª∞ 6  ¬˝‡ŸÊ¥ ◊¥ ‚ Á∑§ã„Ë¥ 5 ∑§ ©ûÊ⁄U ŒËÁ¡∞–

(i) Which of the following causes water pollution ?

(a) Generation of ozone gas (b) Use of fertilizer

(c) Use of automobile (d) Use of mineral water

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ¡‹ ¬˝ŒÍ·áÊ ∑§Ê ∑§Ê⁄UáÊ ’ŸÃÊ „Ò?

(a) •Ê$¡ÊŸ ªÒ‚ ∑§Ê ©à¬ÊŒŸ (b) ©fl¸⁄U∑§Ê¥ ∑§Ê ©¬ÿÊª

(c) •ÊÚ≈UÊ◊Ê’ÊßÀ‚ ∑§Ê ©¬ÿÊª (d) Á◊Ÿ⁄U‹ flÊÚ≈U⁄U ∑§Ê ©¬ÿÊª

(ii) Which type of fire extinguisher is not suitable for fire caused due to grease or
gas  materials ?

(a) Water CO
2

(b) Dry chemical powder

(c) Mechanical foam (d) Carbon dioxide

ª˝Ë‚ ÿÊ ªÒ‚ ¬ŒÊÕÊZ ∑§ ∑§Ê⁄UáÊ „ÊŸ flÊ‹Ë •Êª ∑§ Á‹∞ Á∑§‚ ¬˝∑§Ê⁄U ∑§Ê •ÁÇŸ‡ÊÊ◊∑§ ©¬ÿÈÄÃ Ÿ„Ë¥
„Ò?

(a)  flÊ≈U⁄U CO
2

(b)  ‚ÍπÊ ⁄U‚ÊÿÁŸ∑§ ¬Ê©«U⁄U

(c)  ◊Ò∑§ÁŸ∑§‹ »§Ê◊ (d)  ∑§Ê’¸Ÿ«UÊß¸•ÊÚÄ‚Êß«U

(iii) __________ is the science concerned with designing and arranging things so
that people can use them easily and safely.

(a) Rectification (b) Ergonomics

(c) Evacuation Plan (d) Economics

__________  fl„ ÁflôÊÊŸ „Ò ¡Ê øË$¡Ê¥ ∑§Ê ß‚ Ã⁄U„ Á«U$¡ÊßŸ •ÊÒ⁄U √ÿflÁSÕÃ ∑§⁄UŸ ‚ ‚¥’¥ÁœÃ
„Ò, Á∑§ ‹Êª ©Ÿ∑§Ê •Ê‚ÊŸË ‚ •ÊÒ⁄U ‚È⁄UÁˇÊÃ M§¬ ‚ ©¬ÿÊª ∑§⁄U ‚∑¥§–

(a)  ‚¥‡ÊÊœŸ (b)  •ªÊ¸ŸÊÚÁ◊Ä‚

(c)  ßflÄÿÍ∞‡ÊŸ å‹ÊŸ (d)  •Õ¸‡ÊÊSòÊ
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(iv) Cleanliness at workplace is important because _________.
(a) It saves time
(b) It increases salary of employees
(c) It improves company’s infrastructure
(d) It makes employee feel happy and motivated

∑§Êÿ¸SÕ‹ ¬⁄U Sflë¿UÃÊ ◊„àfl¬ÍáÊ¸ „Ò ÄÿÊ¥Á∑§ __________ –
(a) ÿ„ ‚◊ÿ ’øÊÃÊ „Ò–
(b) ÿ„ ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê flÃŸ ’…∏ÊÃÊ „Ò–
(c) ÿ„ ∑§ê¬ŸË ∑§ ’ÈÁŸÿÊŒË …UÊ¥ø ∑§Ê ‚ÈœÊ⁄UÃÊ „Ò–
(d) ÿ„ ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê πÈ‡Ê •ÊÒ⁄U ¬˝Á⁄UÃ ◊„‚Í‚ ∑§⁄UÊÃÊ „Ò–

(v) It is important to clean up the spilled liquid or items like paint immediately
to __________.
(a) maintain sufficient staff time
(b) impress visitors
(c) prevent occurring of accidents
(d) maintain office aesthetics

ÿ„ ◊„àfl¬ÍáÊ¸ „Ò Á∑§ »Ò§‹ „È∞ Ã⁄U‹ ¬ŒÊÕ¸ ÿÊ ¬¥≈U ¡Ò‚Ë flSÃÈ•Ê¥ ∑§Ê ÃÈ⁄UãÃ ‚Ê»§ Á∑§ÿÊ ¡Ê∞ ÃÊÁ∑§
__________–
(a) ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ¬ÿÊ¸åÃ ‚◊ÿ Á◊‹ ‚∑§–
(b) •Êª¥ÃÈ∑§Ê¥ ∑§Ê ¬˝÷ÊÁflÃ Á∑§ÿÊ ¡Ê ‚∑§–
(c) ŒÈÉÊ¸≈UŸÊ•Ê¥ ∑§Ê ⁄UÊ∑§Ê ¡Ê ‚∑§–
(d) ∑§ÊÿÊ¸‹ÿ ∑§Ë ‚È¥Œ⁄UÃÊ ’ŸÊ∞ ⁄Uπ¥–

(vi) __________ causes pain, numbness, and tingling in the hand and arm.
(a) Carpal Turn Syndrome (b) Carpal Tunnel Syndrome
(c) Cuticle Turn Syndrome (d) Crystal Tunnel Syndrome

__________ ∑§ ∑§Ê⁄UáÊ „ÊÕ •ÊÒ⁄U ’Ê°„ ◊¥ ŒŒ¸, ‚ÈãŸÃÊ •ÊÒ⁄U ¤ÊŸ¤ÊŸÊ„≈U „ÊÃË „Ò–
(a) ∑§Ê¬¸‹ ≈UŸ¸ Á‚ã«˛UÊ◊ (b) ∑§Ê¬¸‹ ≈UŸ‹ Á‚ã«˛UÊ◊
(c) ÄÿÍÁ≈U∑§‹ ≈UŸ¸ Á‚ã«˛UÊ◊ (d) Á∑˝§S≈U‹ ≈UŸ‹ Á‚ã«˛UÊ◊

SECTION - B / π¥«U - ’

Subjective Type Questions / Áfl·ÿ¬⁄U∑§ ¬˝‡Ÿ

Answer any 3 out of the given 5 questions on Employability skills.  Answer each question
in 20-30 words.

⁄UÊ¡ªÊ⁄U ∑§ÊÒ‡Ê‹ ¬⁄U ÁŒ∞ ª∞ 5 ¬˝‡ŸÊ¥ ◊¥ ‚ Á∑§ã„Ë¥ 3 ∑§ ©ûÊ⁄U ŒËÁ¡∞–  ¬˝àÿ∑§ ©ûÊ⁄U 20-30 ‡ÊéŒÊ¥ ◊¥ ŒËÁ¡∞–

6. Give any two ways to overcome barriers to effective communication.

¬˝÷ÊflË ‚¥øÊ⁄U ◊¥ •ÊŸ flÊ‹Ë ’ÊœÊ•Ê¥ ∑§Ê ŒÍ⁄U ∑§⁄UŸ ∑§ ∑§Êß¸ ŒÊ Ã⁄UË∑§ ’ÃÊß∞–

2x3=6
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7. Tushar is an intelligent student, but he has a habit of delaying his work at times.
One day, his father asked him to get medicines for his grandmother in the morning,
but Tushar brought them late in the evening.  This delay resulted in a health problem
for his grandmother.  He promised his father that he would never postpone his
tasks again, as he had learned the importance of Time Management.  Give any
two benefits of Time Management.

ÃÈ·Ê⁄U ∞∑§ ’ÈÁh◊ÊŸ ¿UÊòÊ „Ò, ‹Á∑§Ÿ ∑§÷Ë ∑§÷Ë ©‚ •¬ŸÊ ∑§Ê◊ ≈UÊ‹Ÿ ∑§Ë •ÊŒÃ „Ò– ∞∑§ ÁŒŸ ©‚∑§ Á¬ÃÊ
Ÿ ‚È’„ •¬ŸË ŒÊŒË ∑§Ë ŒflÊß¸ÿÊ° ‹ÊŸ ∑§ Á‹∞ ∑§„Ê, ‹Á∑§Ÿ ÃÈ·Ê⁄U Ÿ ©ã„¥ ‡ÊÊ◊ ∑§Ê Œ⁄U ‚ ‹Ê∑§⁄U ÁŒÿÊ–
ß‚ Œ⁄UË ∑§ ∑§Ê⁄UáÊ ©‚∑§Ë ŒÊŒË ∑§Ë ‚„Ã ¬⁄U •‚⁄U ¬«∏Ê– ©‚Ÿ •¬Ÿ Á¬ÃÊ ‚ flÊŒÊ Á∑§ÿÊ Á∑§ fl„ •’ ∑§÷Ë
÷Ë •¬Ÿ ∑§ÊÿÊZ ∑§Ê Ÿ„Ë¥ ≈UÊ‹ªÊ, ÄÿÊ¥Á∑§ ©‚ ‚◊ÿ ¬˝’¥œŸ ∑§ ◊„àfl ∑§Ê ∞„‚Ê‚ „Ê ªÿÊ „Ò– ‚◊ÿ ¬˝’¥œŸ
∑§ ∑§Êß¸ ŒÊ ‹Ê÷ ’ÃÊß∞–

8. Give any two guidelines for computer maintenance.

∑§êåÿÍ≈U⁄U ∑§ ⁄Uπ⁄UπÊfl ∑§ Á‹∞ ∑§Êß¸ ŒÊ ÁŒ‡ÊÊÁŸŒ¸‡Ê ŒËÁ¡∞–

9. Give any two myths about an entrepreneur.

©l◊Ë ∑§ ’Ê⁄U ◊¥ ∑§Êß¸ ŒÊ Á◊Õ∑§ ’ÃÊß∞–

10. What is organic farming ?  Give one example.

¡ÒÁfl∑§ (•Êª¸ÁŸ∑§) πÃË ÄÿÊ „Ò?  ∞∑§ ©ŒÊ„⁄UáÊ ŒËÁ¡∞–

Answer any 4 out of the given 6 questions in 20-30 words each. 2x4=8

ÁŒ∞ ª∞ 6 ¬˝‡ŸÊ¥ ◊¥ ‚ Á∑§ã„Ë¥ 4  ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U 20-30 ‡ÊéŒÊ¥ ◊¥ Á‹Áπ∞–

11. Explain anchoring images in LibreOffice writer.

Á‹’˝•ÊÚÁ»§‚ ⁄UÊß≈U⁄U ◊¥ ß◊¡ ∞¥∑§Á⁄¥Uª ∑§Ê fláÊ¸Ÿ ∑§⁄¥U–

12. What are macros ?  Why are they needed ?

◊Ò∑˝§Ê$¡ ÄÿÊ „Ò¥? ©Ÿ∑§Ë •Êfl‡ÿ∑§ÃÊ ÄÿÊ¥ „Ò?

13. Explain recording changes features of LibreOffice Calc.  Which feature is turned
off while recording changes in Calc ?

Á‹’˝•ÊÚÁ»§‚ Calc ◊¥ Á⁄U∑§ÊÁ«ZUª ø¥¡‚ »§Ëø⁄U ∑§Ê fláÊ¸Ÿ ∑§⁄¥– Calc ◊¥ ¬Á⁄UflÃ¸Ÿ Á⁄U∑§Ê«¸U ∑§⁄UÃ ‚◊ÿ ∑§ÊÒŸ
‚Ë ‚ÈÁflœÊ ’¥Œ ⁄U„ÃË „Ò?

14. What are forms in LibreOffice Base ?

Á‹’˝•ÊÚÁ»§‚ ’‚ (Base) ◊¥ »§Ê◊˜¸‚ ÄÿÊ „Ò¥?
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15. Explain physical hazards at workplace.

∑§Êÿ¸SÕ‹ ¬⁄U ‡ÊÊ⁄UËÁ⁄U∑§ πÃ⁄Ê¥ (Á»§Á$¡∑§‹ „Ò$¡Ê«˜U¸‚) ∑§Ê ‚◊¤ÊÊß∞–

16. Give any two safety steps that should be taken to prevent fire hazards at the
workplace.

∑§Êÿ¸SÕ‹ ¬⁄U •ÁÇŸ ∑§ πÃ⁄Ê¥ ∑§Ê ⁄UÊ∑§Ÿ ∑§ Á‹∞ ∑§Êß¸ ŒÊ ‚È⁄UˇÊÊ ∑§Œ◊ ’ÃÊß∞–

Answer any 3 out of the given 5 questions in 50-80 words each. 4x3=12

ÁŒ∞ ª∞ 5 ¬˝‡ŸÊ¥ ◊¥ ‚ Á∑§ã„Ë¥ 3 ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U 50-80 ‡ÊéŒÊ¥ ◊¥ Á‹Áπ∞–

17. Explain usefulness of track changes feature /tool in LibreOffice writer.  Explain
any two options of track changes toolbar in writer.

Á‹’˝•ÊÚÁ»§‚ ⁄UÊß≈U⁄U ◊¥ ≈˛U∑§ ø¥¡‚ ‚ÈÁflœÊ/≈ÍU‹ ∑§Ë ©¬ÿÊÁªÃÊ ‚◊¤ÊÊß∞– ⁄UÊß≈U⁄U ◊¥ ≈˛U∑§ ø¥¡‚ ≈ÍU‹’Ê⁄U ∑§
Á∑§ã„Ë¥ ŒÊ Áfl∑§À¬Ê¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

18. Imagine that you have to maintain a report of marks scored by all the students of
different classes in spreadsheets for each subject. Your task is to create a report of
all the students by combining different spreadsheets and analyze overall
performance.
(a) Which tool can be used to merge marks of students from different

spreadsheets into a single summary ?
(b) What functions can be applied to the above to analyze the combined data ?
(c) Specify the menu option to apply this tool in LibreOffice Calc.
(d) What is the purpose of this tool in the situation above ?

∑§À¬ŸÊ ∑§⁄¥U Á∑§ •Ê¬∑§Ê ¬˝àÿ∑§ Áfl·ÿ ∑§ Á‹∞ S¬˝«U‡ÊË≈U ◊¥ ÁflÁ÷ãŸ ∑§ˇÊÊ•Ê¥ ∑§ ‚÷Ë ¿UÊòÊÊ¥ mÊ⁄UÊ ¬˝ÊåÃ •¥∑§Ê¥
∑§Ë Á⁄U¬Ê≈¸U ’ŸÊ∞ ⁄UπŸË „Ò– •Ê¬∑§Ê ∑§Êÿ¸ ÁflÁ÷ãŸ S¬˝«U‡ÊË≈U ∑§Ê Á◊‹Ê∑§⁄U ‚÷Ë ¿UÊòÊÊ¥ ∑§Ë Á⁄U¬Ê≈¸U ’ŸÊŸÊ •ÊÒ⁄U
‚◊ª˝ ¬˝Œ‡Ê¸Ÿ ∑§Ê Áfl‡‹·áÊ ∑§⁄UŸÊ „Ò–
(a) ÁflÁ÷ãŸ S¬˝«U‡ÊË≈U ‚ ¿UÊòÊÊ¥ ∑§ •¥∑§Ê¥ ∑§Ê ∞∑§ ‚Ê⁄UÊ¥‡Ê ◊¥ ◊¡¸ (‚◊ÊÁ„Ã) ∑§⁄UŸ ∑§ Á‹∞ Á∑§‚ ≈ÍU‹ ∑§Ê

©¬ÿÊª Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò?
(b) ‚¥ÿÈÄÃ «U≈UÊ ∑§Ê Áfl‡‹·áÊ ∑§⁄UŸ ∑§ Á‹∞ ©¬⁄UÊÄÃ ≈UÍ‹ ¬⁄U ∑§ÊÒŸ ‚ »¥§Ä‡ÊŸ ‹ÊªÍ Á∑§∞ ¡Ê ‚∑§Ã „Ò¥?
(c) Á‹’˝•ÊÚÁ»§‚ ∑§À∑§ ◊¥ ß‚ ≈ÍU‹ ∑§Ê ‹ÊªÍ ∑§⁄UŸ ∑§ Á‹∞ ◊ŸÍ Áfl∑§À¬ ’ÃÊß∞–
(d) ©¬⁄UÊÄÃ ÁSÕÁÃ ◊¥ ß‚ ≈ÍU‹ ∑§Ê ÄÿÊ ©Œ˜Œ‡ÿ „Ò?

19. Explain following terms with respect to DBMS :
(a) Candidate key (b) Report
(c) Entity (d) Query

«UË’Ë∞◊∞‚ ∑§ ‚¥’¥œ ◊¥ ÁŸêŸÁ‹ÁπÃ ‡ÊéŒÊ¥ ∑§Ë √ÿÊÅÿÊ ∑§⁄¥U —
(a) ∑§ã«UË«U≈U ∑È¥§¡Ë (∑§Ë) (b) Á⁄U¬Ê≈¸U
(c) ∞¥Á≈U≈UË (d) Äfl⁄UË
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20. Give any four steps to be followed in situation of emergency for evacuation.

•Ê¬ÊÃ∑§Ê‹ËŸ ÁSÕÁÃ ◊¥ ÁŸ∑§Ê‚Ë ∑§ Á‹∞ •¬ŸÊ∞ ¡ÊŸ flÊ‹ ∑§Êß¸ øÊ⁄U ‚Ê◊Êãÿ ∑§Œ◊ ’ÃÊß∞–

21. Consider table Inventory given below :

ŸËø ŒË ªß¸ ÃÊÁ‹∑§Ê “Inventory” ¬⁄U ÁfløÊ⁄U ∑§⁄¥U —
Inventory

Item -Id Item Qty Price Category

I01 Keyboard 150 750.00 Electronic

I02 Mouse 108 550.00 Computer

I03 Mouse pad 200 150.00 Computer

I04 Power cable 150 180.00 Electronic

(a) As a database administrator, you need to ensure that each inventory item
has a unique identifier.  Which field in the table would you select Primary
key ?

∞∑§ «U≈UÊ’‚ ¬˝‡ÊÊ‚∑§ ∑§ M§¬ ◊¥ •Ê¬∑§Ê ÿ„ ‚ÈÁŸÁ‡øÃ ∑§⁄UŸÊ „Ò Á∑§ ¬˝àÿ∑§ ßãfl¥≈˛UË •Êß≈U◊ ◊¥ ∞∑§
ÁflÁ‡Êc≈U ¬„øÊŸ∑§ÃÊ¸ „Ê– •Ê¬ ßãflã≈˛UË ≈U’‹ ∑§ Á‹∞ ¬˝Êß◊⁄UË ∑§Ë ∑§ M§¬ ◊¥ ∑§ÊÒŸ ‚Ê »§ËÀ«U
øÈŸ¥ª ?

(b) As an administrator, you are required to create a Transact table to record the
daily transactions of the mentioned items in the Inventory table.  You need
to specify any three required fields for Transact table.

∞∑§ ∞«UÁ◊ÁŸS≈U⁄U ∑§ M§¬ ◊¥, •Ê¬∑§Ê Inventory ≈U’‹ ◊¥ ©ÁÀ‹ÁπÃ flSÃÈ•Ê¥ ∑§ ŒÒÁŸ∑§ ‹Ÿ ŒŸ
∑§Ê Á⁄U∑§ÊÚ«¸U ⁄UπŸ ∑§ Á‹∞ Transact ≈U’‹ ’ŸÊŸ ∑§Ë •Êfl‡ÿ∑§ÃÊ „Ò, •Ê¬ Transact ≈U’‹ ∑§
∑§Êß¸ ÃËŸ •ÁŸflÊÿ¸ $»§ËÀ«U ’ÃÊ∞¥–

(c) After reviewing the database you realized that another field apart from
Primary key can be used to uniquely identify records.  Identify the alternate
key and justify.

«U≈UÊ’‚ ∑§Ë ‚◊ËˇÊÊ ∑§ ’ÊŒ, •Ê¬Ÿ ŒπÊ Á∑§ Á⁄U∑§Ê«¸U‚ ∑§Ê ÁflÁ‡Êc≈U M§¬ ‚ ¬„øÊŸŸ ∑§ Á‹∞ Á∑§‚Ë
•ãÿ »§ËÀ«U ∑§Ê ÷Ë ©¬ÿÊª Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–  •Ê¬ ∞∑§ •ÊÀ≈U⁄UŸ≈U ∑§Ë ∑§Ë, ¬„øÊŸ ∑§⁄¥U–

(d) You need to integrate inventory table with another table supplier.  Explain
how you will use primary key and foreign key to link the inventory and
supplier tables with an example.

•Ê¬∑§Ê ßãflã≈˛UË ÃÊÁ‹∑§Ê ∑§Ê Á∑§‚Ë •ãÿ ÃÊÁ‹∑§Ê ‚å‹Êÿ‚¸ ∑§ ‚ÊÕ ∞∑§Ë∑Î§Ã ∑§⁄UŸÊ „Ò–  ∞∑§
©ŒÊ„⁄UáÊ ∑§ ‚ÊÕ ’ÃÊ∞° Á∑§ ßãflã≈˛UË •ÊÒ⁄U ‚å‹Êÿ‚¸ ÃÊÁ‹∑§Ê•Ê¥ ◊¥ Á⁄U‹‡ÊŸ ’ŸÊŸ ∑§ Á‹ÿ ¬˝Êß◊⁄UË
∑È¥§¡Ë •ÊÒ⁄U »Ú§Ê⁄UŸ ∑È¥§¡Ë ∑§Ê ©¬ÿÊª ∑Ò§‚ ∑§⁄¥Uª–
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